An Application of Regional Input-Output Model to the Analysis of Carbon Dioxide Emission
from Transport Sectors in Japanese Regions *
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X=[(I-(I-M=N)A] * [(I-M=N)Fa+E+Ec] (1)
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Y=§ [(=(1-M-N)A] " [(1-M=N)Fa+E + Ec]
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AY= Yt+1 _Yt — [dt+1Bt+l _dtBt ] F +dt+l Bt+1 [Ft+1 _Ft ] (4)

11

1985

1990

(1995 )

41

®

~o =~

12

11

70

6.0

50

40

30

20

10

0.0
1980 1985 1990 1995

1975 95
1975 85

(1990 95 )
1 11
1990 56.0% 0.0% 0.7% 43.4%
1995 55.7% 0.0% 0.4% 43.9%
90-95 -0.26 0.00 -0.22 0.49
1990 20.2% 2.0% 0.0% 77.8%
1995 18.1% 1.1% 5.2% 75.5%
90-95 -2.05 -0.88 5.22 -2.29
1990 77.6% 0.0% 0.7% 21.7%
1995 78.9% 0.0% 0.6% 20.5%
90-95 1.25 0.00 -0.04 -1.20
1990 21.8% 5.2% 6.6% 66.4%
1995 27.9% 4.3% 4.5% 63.3%
90-95 6.12 -0.94 -2.14 -3.04
1990 0.0% 0.0% 100.0% 0.0%
1995 0.0% 0.0% 100.0% 0.0%
90-95 0.00 0.00 0.00 0.00
1990 29.7% 4.6% 0.2% 65.5%
1995 29.6% 2.6% 0.1% 67.6%
90-95 -0.04 -2.02 -0.07 2.13
1990 4.3% 2.1% 43.2% 50.4%
1995 5.7% 3.1% 48.6% 42 .6%
90-95 1.40 1.02 5.41 -7.84
1990 30.2% 0.3% 18.7% 50.9%
1995 26.2% 0.0% 20.2% 53.6%
90-95 -3.99 -0.22 1.50 2.71
1990 26.5% 3.3% 0.0% 70.2%
1995 21.0% 5.0% 6.0% 68.0%
90-95 -5.51 1.73 5.94 -2.16
1990 30.3% 6.9% 0.0% 62.8%
1995 23.4% 15.9% 3.9% 56.7%
90-95 -6.89 9.08 3.86 -6.04
1990 34.3% 0.0% 23.2% 42 5%
1995 37.1% 0.0% 22.4% 40.6%
90-95 2.78 0.00 -0.86 -1.92
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